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oh 4 JE i #®H [ koE | EK E=E = iE P A
X R AeifE 10. 00 | AHxf 200 2,000 1,620 1,512 1,404
IEN e 10. 00 | AHxf 325 3,250 1,836| 1,457 1,026
R [ 5. 00 | ¥Hx} 35 175 3,240 2,614 1,296
B3k E # 15. 00| AB%f 670 10,050 4, 104| 1,977 54
X 5D s 10. 00 | #H56f 400 4,000 1,080 975 702
HA P 3. 00| FH%f 16 48| 1,944 1,181 108
H A [ 1. 00 | FHxf 180 180 1,296| 1,023 756
A m B 5. 00| FEx} 167 835 2,484 2,126| 1,296
EXE o.40| faxf| 1,300 520  1sa| 159 97
EFEL = g 4. 00| FH %t 676 2,704 2,700 2,397| 1,188
[N el 5. 00| FHx} 23 115 2,592 2,282 1,512
& iE | 5.00|4AR| 832|  4,160| 2,700 2,200 1,188
B— = R 0. 15| fHx} 3, 150 473 92 91 86
~RF Rk A 3. 00 | #Hxt 616 1,848 3,456| 3,313| 1,944
H 75 ™ 5. 00| FHxt 180 900 1,944 1,764| 1,512
FEnE e 10. 00| FHx 49 490 2,268 2,024 1,728
£ A AbifE 20. 00 | AH %} 10 200 3, 780
% fE | 10.00|fARE| 11| 4010 4,968 2777 864
LA A £ ¥ 10. 00 | #H % 1, 210 12,1001 2,268 1,870 1,296
P=—1F R E ¥ 4. 00| FHx} 506 2,024 2,484 2,030| 1,512
AEHEE ™5 0. 10| #H%f | 1,400 140 162 112 65
ZDEH £ ¥ 0. 20| FHx} 1, 800 360 70 68
Ll B 0. 20 | FHxt 300 60 83




ID:1210 P- 2

= e F Rkt
+ B o B #E98 B o5l R R
R3E SFI0TH09 H 08 H HITEREL 31 b (Biir)
oh 4 JEE Hht #®H [ koE | EK I = iE P A

DND £ ¥ 10. 00| #H%F 294 2,940| 5,067| 3,701 2,484
oK £ 10. 00 | #HF 1, 000 10,000| 4,968| 4,766 4,104
AR O 10. 00| FHxf 1,039 10,390 7,020| 5,592 4,536
K & & 5. 00| FHxt 150 750  3,564| 3,010| 2,700
(S 2 E % 0. 35| fH%f 130 46 432
B A — R | 2. 00 | #Hxf 106 212 1, 944 1,732 1, 080
B FEk L 0. 30| FHxt 1, 000 300 356 346 335
/NEPE R & H 10. 00 | #E 100 1,000 5,508 4,984 4,104
Avava 7 4 U ¥ | 13.00| #Hxf 17 221 4,104 2,160 594




